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B. Power off and power on the device. 
C. Establish an SSH connection to the loopback interface. 
D. Connect to the console of the device. 
 
Correct Answer: D 
 
 
QUESTION 81 
You have the policy configuration shown in the exhibit applied to a BGP peering. You determine 
that customer routes coming from the 10.1.1.0/24 network are being rejected. Which action 
should be used to correct the problem? 
 
***Exhibit is Missing*** 
 
A. [edit policy-options policy-statement my-policy] 

user@router# copy term 2 to term 1 
B. [edit policy-options policy-statement my-policy] 

user@router# rename term 1 to term 3 
C. [edit policy-options policy-statement my-policy] 

user@router# copy term 2 to term 0 
D. [edit policy-options policy-statement my-policy] 

user@router# insert term 2 before term 1 
 
Correct Answer: C 
 
 
QUESTION 82 
What are three acceptable modifiers to a terminating action on a firewall filter? (Choose three.) 
 
A. policer 
B. count 
C. log 
D. discard 
E. syslog 
 
Correct Answer: BCE 
 
 
QUESTION 83 
What is the default firewall filter behavior when a term is matched but no terminating action is 
specified? 
 
A. an implicit deny and the filter evaluation terminates 
B. an implicit accept and the filter evaluation terminates 
C. an implicit accept and the filter evaluation continues to the next term 
D. an implicit deny and the filter evaluation continues to the next term 
 
Correct Answer: C 
 
 
QUESTION 84 
You have entered the command "show log messages | match "error | kernel | panic" which 
statement is correct regarding the keywords error, kernel and panic in the output? 
 
A. the output messages will contain all messages from the file except the ones that contain all three 
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defined keywords. 
B. the output messages will contain all messages from the file that contains all three defined 

Keywords 
C. the output messages will contain all messages from the file that contains at least one of the three 

defined keywords 
D. the output messages will contain all messages from the file except the ones that contains at least 

one of the three defined keywords 
 
Correct Answer: B 
 
 
QUESTION 85 
In which directory the traceoption files stored by default? 
 
A. /var/db/ 
B. /var/tmp/ 
C. /var/log/ 
D. /var/home/ 
 
Correct Answer: C 
 
 
QUESTION 86 
When you first log in to a router, how does the router indicate that factory defaults are being 
used? 
 
Junos Configuration Basics 
 
A. The router's host name is Amnesiac. 
B. The password you used to log in is junos. 
C. The router immediately enters configuration mode after you log in. 
D. The router allows you to enter configuration mode without logging in. 
 
Correct Answer: A 
 
 
QUESTION 87 
Which three statements are true about IPv6 linl local addresses? (Choose three.) 
 
A. They begin with the prefix fe80::/64. 
B. They can be assigned manually or dynamically. 
C. They are not guaranteed to be unique outside of the network segment. 
D. They are optional adddresses. 
E. They provide reachability to the internet. 
 
Correct Answer: ABC 
 
 
QUESTION 88 
Referring to the exhibit, what happens when ping packets are sent to management interface 
address of the local router? 
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A. The ping packets are silently discarded 
B. An ICMP unreachable message is returned 
C. The Ping packets are accepted 
D. An ICMP redirect message is returned 
 
Correct Answer: D 
 
 
QUESTION 89 
What is the initial prompt displayed when logging in as the root user? 
 
A. root@router> 
B. root@router% 
C. root@router# 
D. root@router* 
 
Correct Answer: B 
 
 
 
 
QUESTION 90 
Which two platforms are supported in physical and virtual form factors? (Choose two.) 
 
A. NFX Series 
B. SRX Series 
C. MX Series 
D. ACX Series 
 
Correct Answer: BC 
 
 
QUESTION 91 
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Which three protocols are connectionless? (Choose three.) 
 
A. ICMP 
B. Telnet 
C. SSH 
D. TFTP 
E. DNS 
 
Correct Answer: ADE 
 
 
QUESTION 92 
Which two commands would you use to reset the candidate configuration to the active 
configuration? (Choose two.) 
 
A. rollback 0 
B. rollback 1 
C. rollback 2 
D. rollback 
 
Correct Answer: AD 
 
 
QUESTION 93 
Which command prompt indicates that you are in operational mode? 
 
A. user @ router & 
B. user @ router # 
C. user @ router $ 
D. user @ router > 
 
Correct Answer: D 
 
 
QUESTION 94 
Which command displays all IPv4 routes in the default routing instance? 
 
A. show route table inet.0 
B. show route table inet.2 
C. show route table inet6.0 
D. show route table inet.1 
 
Correct Answer: A 
 
 
QUESTION 95 
What is the decimal equivalent of 00000100? 
 
A. 2 
B. 4 
C. 9 
D. 12 
 
Correct Answer: B 
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QUESTION 96 
How many IP addresses can be configured on a given interface? 
 
A. one primary and one secondary 
B. one 
C. as many as you want 
D. one primary and multiple secondary 
 
Correct Answer: C 
 
 
QUESTION 97 
What is responsible for processing multicast transit traffic? 
 
A. Control plane 
B. Management plane 
C. RE 
D. PFE 
 
Correct Answer: D 
 
 
QUESTION 98 
What are three characteristics of Layer 2 switches? (Choose Three.) 
 
A. Layer 2 switches separates multicast domains. 
B. Layer 2 switches separates collision domains. 
C. Layer 2 switches forward traffic addressed to hosts that reside on the same collision domain. 
D. Layer 2 switches forward traffic addressed to hosts that reside on a different collision domain. 
E. Layer 2 switches forward broadcast traffic. 
 
Correct Answer: BDE 
 
 
 
 
 
QUESTION 99 
Which process is responsible for controlling all interfaces on a Junos device? 
 
A. rpd 
B. chassisd 
C. dcd 
D. mgd 
 
Correct Answer: C 
 
 
QUESTION 100 
You issue the request system zeroize command. Which statement is correct in this scenario? 
 
A. All data files are deleted and all configuration setting are returned to factory defaults. 
B. All data files remain unchanged but all configuration setting are returned to factory defaults. 
C. Disk space is freed by rotating log files and a proposed list of files to delete is presented. 
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